<o @> (rad)

< 00, > (M)

<opyp, > ()

x1073 0.2 x1073

0.2r ; : A C H T T T
E : : 5 E : : ] :
0.15F {3 RN e B 0.15f e : R | I R SRR
o ¥ : o = q f b :

0.} [t i il SR LA
F i E E ! E
0.05F +{ff- § o 0.05fF -+ 5 H1 1 R SEERS

of [-fiti-- | = O R
E Laf : E :
-0.05F -]+ 1 ‘ - =0.05f---+-5-- 4 fefeeess
~0.1} -}t IR LR SR 4 BN
L k L
—0.15F -l AR | E R | RR R K S —0.15F+-+heee 1 GERREREEE B 1 & A SECR SRS
—0.2ks Ll UL L L R ) PRVRPSPRN P | P PSP A I
: nl it | :l : S SR ‘ 1 (T
b e - 418 ; 24 | i | ' !
b [[* 1] i i [ | g
:’ | J.ﬁ FHTETTL T} d b
05 R L TE TR E L
= ; 05 ; : il

0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

<4

RatioI
P
al

1000TTRITS : : : : — 100p :

E 5 : : ' il E F |
80 E | R SRR X’ 80 1kt 1
60 |1 S BORH -l A{ i - H

r : ie] r :
40EHIHHH v 40H 3
2011 11 20 :

OFffisi4 Oft :
-20RH1 20 : 3
—a0fri it -40f ; qh
-60RHHH T =60F ([t A{{f -5 SRR
21111101 SRR SN S < Y02 110 | SRR SR t:
100'....!....!....!||||!||||!|||| 0_100-:III|IIII!IIII!IIII!IIIIiIIII

I B =t UK A
11l el L L LA o e TR RO e
1 2 3 B2 10 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

-3 -2 - 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


